CTET SS L1 English L2 Hindi P2

Topic:- CDP_P2_CTET

Y Which of the following characterize the process of development ?
(i) Itisa process limited to childhood.
(i) Itis a life long process.
(iii) It begins at birth.
(iv) It begins at conception.
Choose the correct option :

(1) () (i)
(2) (@ (iv)
(3) (i) (iii)
(4) () (v)
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[Question ID = 1][Question Description = $13_CDP_Q001]
1. 1 [Option ID = 1]

2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 ‘Sensitive’ periods of development refers to :

(1) Time spans when the child is ready for certain kinds of learnings.
(2) The time period when children become very emotional.

(3) The time period from conception till birth. |
(4)

4)  The time period from infancy till adolescence.
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[Question ID = 2][Question Description = S13_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3)

As a teacher, which of the following would you believe in, if you think that environment is
profoundly influential throughout development ?

(1)
(2)

Provide assistance to children anytime, as with the help of favourable life circumstances
children can recover from early negative experiences.

Providing experiences aimed at promoting change would seem to be little value.
Children who are high or low in a characteristic such as verbal ability will remain so at later
stages. '

Powerful negative events in first few years of life cannot be overcome later.
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[Question ID = 3][Question Description = S13_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4 What is the role of schools in socialization of children ?

(1)

(
(
(

(SR

4

)
)
)

No role

Primary socializing agency
Secondary socializing agency
Tertiary socializing agency
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[Question ID = 4][Question Description = S13_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

®) The ability to ‘Operate on operations’ is acquired in :
(1) Sensori-motor stage

(2) Pre-operational stage
(3) Concrete operational stage
(4) Formal operational stage
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[Question ID = 5][Question Description = S13_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

®  According to Jean Piaget how do children learn ?

(1) Through passive imitation

(2) By active exploration
(3) Through conditioning
(4) By rewards and punishment
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[Question ID = 6][Question Description = S13_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]



4. 4 [Option ID = 24]

7 Which of the following is an example of scaffolding ?
(1) Repeated practice
Negative reinforcement

s

(2)
(3) Association of stimulus - response
(4) Providing half solved example
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[Question ID = 7][Question Description = S13_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

S}n his theory, Lev Vygotsky proposed that learning takes place in a context.
(1) Psycho-dynamic

(2) Behavioristic

(3) Information-processing

(4) Socio-cultural
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[Question ID = 8][Question Description = S13_CDP_Q008]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9)



Subhiksha always provides opportunities to the children for creating new knowledge through
new exploration, experiments, games and various practical activities in her class. She wants to
create a

(1) Progressive and child-centered classroom

(2) Teacher-centered classroom
(3) Controlled and exam-centered classroom
(4) Behavioristic and reward-oriented classroom
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1[Q1L1<[ecs)titgn IB =3§1[Question Description = $13_CDP_Q009]
2. 2 [Option I - 34

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Assertion (A) : Teachers should use standardized IQ tests to measure the IQ of children.

Reason (R) : IQ test scores help the teachers to predict students” academic performance and
success later in life.

Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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[Question ID = 10][Question Description = S13_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
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3. 3 [Option ID = 39]

4. 4 [Option ID = 40]

11)
Artists, architects and navigators posses high as per Howard Gardner’s theory.
(1) Spatial intelligence

(2) Linguistic intelligence

(3) Musical intelligence

(4)

4) Intrapersonal intelligence
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1[.Q1u<[9;;it?or:] |I|; =411 ;][Question Description = S13_CDP_Q011]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

Assertion (A) : Teachers should discourage girls to participate in science and mathematics
classrooms.

Reason (R) : Girls do not have the inherent abilities to study mathematics and sciences.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.
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1[Q1u<[a;,ti<_>n I||; =415]2][Question Description = S13_CDP_Q012]

2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]



13 Which of the following is a barrier in addressing diverse learning needs of students ?
(1) Collaborative learning
(2) Labelling and segregation
(3) Reasonable accommodation
(4)

Multiple pedagogical strategies
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[Question ID = 13][Question Description = S13_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14 Assessment should not be undertaken :

(1) To find out the readiness levels of children.

(2) To identify gaps in children’s conceptual understanding.
(3) To inculcate competitive spirit among children,

(4) To help understand what the child can do.
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[Question ID = 14][Question Description = S13_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

19 According to Lawhrence Kohlberg, moral development :

(1) 1is a discontinuous process that takes place in six stages.

(2) depends on the social and cultural context of the child.

(3) 1is inter related with the IQ (Intelligent Quotient) of children.
(4) depends entirely on genetic or heredity factors.
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[Question ID = 15][Question Description = S13_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

1) Culture of inclusion is promoted through :
(1) Differentiated instruction
(2) Standardised assessment
(3) Segregation
(4) Labelling
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[Question ID = 16][Question Description = S13_CDP_Q016]
1. 1 [Option ID = 61]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]

4. 4 [Option ID = 64]

17)

To cater to the specific needs of a student with visual impairment in her class, which of the following
pedagogical adaptations a teacher should make ?

(1) Provisioning for visual presentations
(2) Rigid curriculum

(3) Using tactile materials

(4)

4 Standardized assessment
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[Question ID = 17][Question Description = S13_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)

Neera is in middle school and often confuses letters such as writing “bad” as “dab’. This is a typical
identifying characteristic of :

(1) Autism

(2) Dyslexia

(3) Learned helplessness
(4) Dysgraphia
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[Question ID = 18][Question Description = S13_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

Prem can think of multiple ways of solving a problem and always brings some new ideas to the
discussion. This is a characteristic of :

(1) Creativity

(2) Learned helplessness
(3) Egocentricism
(4) Centration
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1[Q:J¢E=gti9n |I|; =713 ‘])][Question Description = S13_CDP_Q019]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20)

Teachers should consider failure of children as :

(1) Shameful and humiliating for the children

(2) Shameful and humiliating for the teacher
(3) A reflection of the capabilities of the students and their parents
(4)

4) A reflection of the school system being unable to provide conducive environment for learning
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[Question ID = 20][Question Description = S13_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

2)  Active engagement is not promoted in :

(1) Questioning

Rote memorization

(2)
(3) Discovery learning
(4)

Dialogue
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[Question ID = 21][Question Description = S13_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]
22)
If a child is unable to perform well in school the teachers should :
(1) Reflect on the pedagogical strategies and the school environment.
(2) Punish the child and tell the child’s parents to put the child in home tuitions.
(3) Ensure that the child is shifted to a separate section meant for children with low abilities.
(4) Find out the social background of the child because children belonging to certain communities
are not capable of learning.
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[Question ID = 22][Question Description = S13_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) Which of the following is NOT a constructive pedagogical strategy ?
(1) Encouraging intuitive guesses
(2) Presenting opportunities for discussion
(3) Encouraging students to reproduce answers from the textbooks as it is
(4)

4) Giving opportunities for guided discovery
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[Question ID = 23][Question Description = $13_CDP_Q023]

1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]
24)

Assertion (A) : The errors made by children during the process of learning should be seen as a
part of their cognitive development.

Reason (R) : Children learn things differently than adults.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q:Jf;£itci>or:1 |I|g =9€T][Question Description = S13_CDP_Q024]

2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Neha is always concerned with being the first in her class even if it means cheating. What kind of
goals is Neha setting ?

(1) Mastery - oriented goals

(2) Performance oriented goals
(3) Work - avoidance goals

(4) Failure accepting goals
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[Question ID = 25][Question Description = S13_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)  Which of the following emotions facilitates the process of meaningful learning ?

(1) Fear
(2) Anger
(3) Joy

(4) Worry
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[Question ID = 26][Question Description = S13_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27)

When Mohit says, “I am good at English. I wrote my answers hurriedly that’s why I did not get
good marks”, he is attributing his performance to :

(1) bad luck

(2) lack of ability
(3) lack of effort
(4) external factors

Hifed weq & - F ofus H o=21 51 98 ol T4 S weat § fad o safay Y or=s T T8 oy’ Hifeq
39 WEYH w1 TR Ry 9T T T8 ?

(1) i feem

(2) FFFAl I FHH
(3) WAE I wH
(4) @l wEH

[Question ID = 27][Question Description = S13_CDP_Q027]
1. 1 [Option ID = 105]

2. 2 [Option ID = 106]

3. 3 [Option ID = 107]

4. 4 [Option ID = 108]

28)

The process through which we activate and sustain our thoughts, behaviours and emotions in
order to reach our goals is called :

(1) Self - regulation
(2) Assimilation

(3) Inter - subjectivity
(4) Adaptation
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[Question ID = 28][Question Description = S13_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]
29)

Assertion (A) : A teacher can help children understand complex concepts most effectively by the
method of direct instruction,

Reason (R) :  Children learn most effectively when they are passive and information is
transmitted to them.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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1['Q;.1(E:og;itc:or:1 Ilg ==1213]][Question Description = S13_CDP_Q029]

2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30)
An effective pedagogical strategy to promote inclusion in a socio - constructivist classroom is :
(1) Implementation of universal design for learning

(2) Labelling and segregation of children based on their abilities

(3) Labelling and segregation of children based on their economic status

(4)

4)  Fierce competition among children for marks
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[Question ID = 30][Question Description = S13_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

Y Who among the following said, “English Education has enslaved us” ?

(1) Maulana Abdul Kalam Azad
(2) Rabindranath Tagore

(3) Dadabhai Naoroji

(4) Mahatma Gandhi
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[Question ID = 91][Question Description = S13_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]
2)
Given below are the location of four archeaological sites in India.
(A) Paiyampalli
(B) Bhimbetka
(C) Hunsgi
(D) Burzhom

Which among the following presents the correct order of their locations from North to
South ?

(D) (A B) ©), (D)
(2 B, ©) (A), (D)
(3)  (B), (D), (A), (B)
4 D) (B) (©) (A)
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1['Q1u<[ecs;;itci>or:] IB ==396:;]][Question Description = $13_Social Science_Q032]
2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)

Match the following in the context of India’s ancient times and choose the appropriate
option.

A B
(a) The composition of the Sangam text (i) 327 - 325 BCE
(b) Alexander invaded the North-West (i) 300 BCE - 300 CE
(¢) The rule of Harshavardhan (iii) 630-643 CE
(d) Xuan Zang comes to India (iv) 606-647 CE

1) (@), (b)-(iii), (c)-(iv), (d)-(
(2 (@-) (b)( ) (c)-(iid), (d)-(ii
(3) (@)@ (b)-(i), (c)-(iv), (d)-(iid
(4)  (a)-(ii), (b)-(iv), (c)-(), (d)-(i

[ LT I

Id § e 999 & gy d frefafag = faam Fifse, o) saga fawe 1 9799 ifsu

A B

(a) HTH Hifged T = (i) 327-3253%7
(b) ufvaHRR § faeRst = SR (i) 30039 -300%.
(c) BHUEH 1 wEA (iii) 630 - 643 3.

(d) IS TN S UG A (iv) 606 - 647 %.

(1) (a)-Gi), (b)-(iii), (c)-(iv), (d)-(1)

(2 (@-@), (b)-(iv), (c)-(iid), (d)-(i)

(3)  (a)-(i), (b)-@), (c)-(v), (d)-(iii)

(4)  (a)-(ii), (b)-(iv), ()-(0), (d)-(ii)

[Question ID = 93][Question Description = S13_Social Science_Q033]
1. 1 [Option ID = 369]



2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]
4)

Chola bronze statues were made using the “lost wax” technique. Following this technique
which material was used first to make an image ?

(1)  Clay

(2) Wax

(3) Molten metal
(4) Terracotta

HAreARTe FiE g qeaHm’ G § o4 St off | 29 qehATe o ST Y g0 gey
gt Ui 5 & e verel = v feran T o ?

(1) fgt

(2) HH

(3) foorell g g

(4) 9l THE (URE)

[Question ID = 94][Question Description = S13_Social Science_Q034]

1. 1 [Option ID = 373]

2. 2 [Option ID = 374]

3. 3 [Option ID = 375]

4. 4 [Option ID = 376]

5)
Which of these statements is/are true about the idea of Sulh-i-kul ?
(A) This idea focussed on a system of ethics-honesty, justices and peace.
(B) An effort was made to frame a vision of governance around this idea.
(C) This principle of governance was not followed by Jahangir and Shahjahan.
(D) Some amount of discrimination between people of different religions was required.
Dptions g

(1)  Only (A), (B) and (C)
(2) Only (A) and (B)

(3)  Only (B) and (C)

(4)  Only (A)



TTH 9 A /H Y Yole-T Fd & fagrn F an § g € 2

(A) I8 Torar Afaewd-samar], =, wifd =i =Fereen 9 g o
(B) =9 foan @ 32— wre g9 o o1 gare e
(C) e % 39 fagia =1 SEr IR wmestel 3 Tem T fawan
(D) fafym= et & @il & &fie e SievE sTreTe o)

faereT :

(1) 9 (A), (B) 71 (C)
(2) AT (A) 91 (B)
(3) (B) T (C)

(4) wEdE (A)

[Question ID = 95][Question Description = S13_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)

Read the statements (A) and (R) and choose the appropriate option.

Statement (A) Murshid Quli Khan ordered a major reassessment of the revenues
of Bengal.
Statement (R) : Murshid Quli Khan wanted to reduce Mughal influence in Bengal.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false

i fau Tu e (A) 3 IO (R) F1 S q1 3UFH fashey 1 =979 #L |

HUT (A) :  GUIiQ Pl W A S F T H g UHE W AR 5 w5 ey fean
HNOT(R) :  TUie ol @ amrel H e THE i T HEAT e o)

(1) (A) 3R (R) €T Tt € IR (R) T& <A1 I & (A) i |

(2) (A) @R (R) SFi 98 ¥ AfeF (R) T&l =amen =& & (A) #T

(3) (A) 5@l € @fFA (R) T 2

(4) (A) i (R) S T B |

1[Q:J?gtit?n I|g =3‘Z?i|[Question Description = S13_Social Science_Q036]

2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]



' Which of the following statements about the Harappan seals is/are correct ?

(A) Harappan made seals out of stones.
(B) Seals were generally of circular shape.
(C) Seals usually have an animal carved on them.

Options :

(1) Only (A)
(2)  (A) and (B)
(3) (B)and (Q)
(4) (A)and (C)

Frreferfad # 9 37077 get o a1 | i JUE FHeF 98 € 2
(A) TESO GERT & A T | gE §96 o |

(B) & WIHF: e gt off |

(C) HeL H Ush SIHaE shi 3ehfd el ardl of |

fasey :

(1) had (A)
(2) (A) ¥R (B)
(3) (B) #R ()

(4) (A) IR ()

[Question ID = 97][Question Description = S13_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)

Which one of the following reasons is not true, “Why hunter-gatherers moved from place
to place” ?

(1) They would have eaten up all the available plant and animal resources
(2) Animals move from place to place

(3) Plants and trees bear fruit in different seasons

(4) They were looking for a place to establish kingdom

frefafaa | & S wF 98t 76 8, ¢ SIrges we-Sues e U T 8 gEt WH W
g’ 2

(1) & 78-9 & e, well SR ey 1 @R JETe T 2 9 |
(2) SIER Ueh ST & U S8 S ahd o |

(3) UEI &R el § wo-er STerT- SR HEE H A 9

(4) U T T I T T T T FHF

[Question ID = 98][Question Description = S13_Social Science_Q038]



1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

Who founded Arya Samaj ?
(1) Raja Ram Mohan Roy

(2) Veerasalingam Pantulu
(3) Swami Dayananda Saraswati
(4) Ishwar Chandra Vidyasagar

S HHTS =i FA9AT fRe = ?
(1) =T TR 7

(2) @iwfeTy dqe

(3) Al gYHg Tl

(4) v <z fammarn

[Question ID = 99][Question Description = S13_Social Science_Q039]

1. 1 [Option ID = 393]

2. 2 [Option ID = 394]

3. 3 [Option ID = 395]

4. 4[Option ID = 396]

10)
Why Jyotirao Phule dedicated his book Gulamgiri to American people ?
(1) Some American civil rights activists financed its publication.
(2) America ended slavery a few years before its publication.

(3) This book contains details of the way American Blacks fought in the civil rights
movement.

(4) Phule wrote this book when he went to USA for a short visit.

Sifare el = STUA el iy STafieRt o @Rl o1 @ wuftd w2

(1) o A9 A sifusr AfFaaEicdl 5 59w emE | Aik® 7eg &l

(2) 3HF W H FS WA Yool STALH § S W1 Wed L & S o

(3) = forama H famar & aviF foran w1 € fo S smifient s1eadl = Arifer sifyer sided o=
(4) Tl 7 I8 ford@ d fordl S99 S H U sieTshiias YH0 T o
1[Q1u<[e§ti<_>n |I|; =319 (7)]0][Question Description = S13_Social Science_Q040]
2. 2 [Option ID = 398]

3. 3 [Option ID = 399]
4. 4 [Option ID = 400]



" Match the following and choose the appropriate option.

List 1 List 11
(a) Satya Sodhak Samaj (i) Ghasidas
(b) Satnami movement (i) Haridas Thakur
(c) Matua Sect (ili) Jyotiba Phule
(d) Self Respect Movement (iv) E.V.Ramaswamy Naicker
Options :

(1) )
(2) (@ - ii), (d)-(iv)
(3)  (@)-@), (b)-(i), (c)-(ii), (d)-(iv)
&) (a)Gii), (& (i), (@)-G)

gt et 11

(a) H TNEH FHS (i) EHEE

(b) A STideH (i) =REw 3E

(c) I T (iii) SAfTET Fe

(d) TEEE AR (iv) 3.3 THREETE A
Terere

(D (@)-@), (b)-(iii), (c)-(iv), (d)-(ii)

(2)  (a)-(ii), (b)-(Q), ()-(ii), (d)-(iv)

(3)  (a)-@), (b)~(ii), (¢)-(iid), (d)-(iv)

(4)  (a)-(ii), (b)-(iv), (c)-(ii), (d)-(0)

[Question ID = 101][Question Description = S13_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12) Who raised the slogan “Freedom is my birthright and I shall have it” ?

(1) Lala Lajpat Rai

(2) Chitta Ranjan Das
(3) Vallabhbhai Patel
(4) Balgangadhar Tilak



“TardAar AU s sifuer €, o 58 st e’ we A fee g e 2

(1) el dsT9d T
(2) oA T™
(3) TEAYHE U

(4) = TR foeres
[Question ID = 102][Question Description = S13_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]
13)

Mahatma Gandhi was initially opposed to women's participation in Salt Satyagraha. Who
persuaded him to allow women to join the movement ?

(1) Ambabai

(2) Pandita Ramabai
(3) Tarabai Shinde
(4) Sarojini Naidu

SE3E B HeweE e ek svierer H nfeenel i ariiert % ye § T8 9
e | & foem 3 ofeenedil =01 sidiem § e =l wiefa 27 % fore gamn 2
(1) e

(2) fEan wEE
(3) R I
(4) wUSH g

[Question ID = 103][Question Description = S13_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

" Which of the following combinations is not matched correctly ?
(1) Lord Mountbatten - The last British Viceroy of India
(2) Direct Action Day - August 15, 1946
(3) Bombay Session of the Congress - July, 1946
(4) Dr. B.R. Ambedkar - First Law Minister of India



foreferfiad § & -1 Sere o gifem e E 2

(1) e AR - 9Rd = AfaA fafest arEE
(2) T e feaw - 15 3T, 1946

(3) oUW I A HHAIH - AR, 1946

(4) AR, sfaEHT - YRd % 98 I HAl

[Question ID = 104][Question Description = S13_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

" In which of the following layers of the atmosphere do the meteorites burn up ?

(1) Stratosphere
(2) Troposphere
(3) Thermosphere
(

A

) Mesosphere

Frafafed sl § 9 amHed ot SE-H W= | I fie e - €2
(1) HHIY Hed

(2) &yHEd
(3) I’ IHEd
(4) afedea

[Question ID = 105][Question Description = S13_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

19 Consider the following statements about longitudes.

(A) All meridians of longitudes are of equal length
(B) The value of Prime Meridian is 0° longitude
(C) The equator represents 60° longitude

Choose the correct option.

(1) Only (A) and (B) are true

(2) Only (B) and (C) are true

(3) Only (A) is true

(4)  Only (B) is true



SwiiaR A o faem | frefafad sl w faem #ife
(A)  Gft ey AR F o g9 @l €

(B) WHE IR H1 HH (° I §

(C)  SH=AE 60° SUIaY AP =l Frefud s 21

Wl fawey = 597 SIS :

(1) dFd (A) 3R (B) 94 £

(2) Fad (B) 2R (C) e ¥

(3) Fae (A) TH Tl

(4) 9 (B) §A &

[Question ID = 106][Question Description = S13_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17 ; ; 2 ;
) Why is torrid zone receiving maximum heat ?

(1) Because sun is exactly overhead at least once a year in tropical region

(2) Because earth is tilted
(3) Because of earth rotation
(4) Because of earth’s revolution

I e £ e e S & 9re i § 2

(1) =it Iourepfesia &3 o &5 § %9 a4 H Uk a1 g4 Sih 92 o S 21 @
(2) i god g B8 '

(3) YT % FUF F HRU

(4) YT =i IHH HA F HRU

[Question ID = 107][Question Description = S13_Social Science_Q047]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4[Option ID = 428]

18)

The opening time of Central Government offices in India is 9:00 a.m. IST, what will be the
local time of opening of the Central Government offices located at 78° East Longitude
near Dehradun and 91°45" East Longitude near Dispur, respectively ?

(1) 0842 am. and 09:37 am. respectively

(2) 09:37 am. and 08:42 a.m. respectively
(3) 0918 a.m. and 08:23 a.m. respectively
(4) 08:23 am. and 09:18 am. respectively



A § Fad TER & FHEfed &1 Ger H1 999 9:00 JaTed (YRGE JHE 999) €| S8gT &
g 78° 4. SR W R fGTR & FHY 91°45° Y, Suiar W feem T WeR % FEiad &
Yo &1 WA 9G4 8 2
(1)  08:42 YaTEA X 09:37 YARA FHHI:
(2)  09:37 YaTgd 311 08:42 YaAlE HHI:
(3) 09:18 gaTEA 3R 08:23 YaTed FHH:
(4) 08:23 gafEA iR 09:18 Yaled HH:
[Question ID = 108][Question Description = S13_Social Science_Q048]
2. 2 Opton 0 - 430]

3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

' Which are the cities connected by Golden Quadrilateral ?

(1) Delhi, Kandla, Chennai and Kolkatta

(2) Delhi, Mumbai, Chennai and Guwahati
(3) Delhi, Mumbai, Chennai and Kolkatta
(4) Chandigarh, Kandla, Tuticorin and Guwahati

Y YR T =g A R S § 2

(1) Teeedt, e, ==, hicih

(2) feoedt, gerE, ==, qaEmEEl

(3) feoed, g, ==, i

(4) =EnTE, HIUSAI, TR, TETRE
[Question ID = 109][Question Description = S13_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

20)

Match List-I with List-II and select the correct answer.

List-I (Forest) List-II (Occurence)
(A) Tropical Deciduous (i) Close to Equator and Tropics
(B) Tropical Evergreen (i) South East USA, South China, South East Brazil
(C) Temperate Evergreen (iii) India, Northern Australia, Central America
(D) Temperate Deciduous (iv) North Eastern USA, China, New Zealand, Chile
(1) (A)-(), (B)-(ih), (O)-(iv), (D)-(ii)
(2)  (A)-(i), (B)-(), (C)-(ii), (D)-(iv)
(3)  (A)-(i), (B)-(ii), (O)-(iv), (D)-(iii)
(4 (A)-(0), B)-(iv), (C)-(iii), (D)-(ii)



FAt-1 <1 Felt-11 & et o 98 Sat 1 997 +i |

g1 (a7) -1 ( erafierfd )
(A) IeurEhfesET qofgrd (i) Y% 1@ U 39 HiZHY o Y
(B) SWTHICHHT TETHRR (i) =fero-gEt @t i =iE T sl g s
(C) T HRTEER (i) WA, ST ST ug HeA STHfER
(D) @i gufard (iv) 34 i SR, =H, =i, faet
(1) (A1), (B)-(itd), (Cr-(iv), (D)-(ii)
(2)  (A)-(iid), (B)-(), (C)-(i), (D)-(iv)
(3) (A1), (B)-(i1), (C)-(iv), (D)-(ii)

(4)  (A)-(), (B)-(iv), (C)-(iii), (D)-(ii)
[Question ID = 110][Question Description = S13_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]
21)
Choose the correct option for the statements given below.
(A) Endogenic forces sometimes produce sudden movements.

(B) Sudden moments like earthquakes and volcanoes cause mass destruction on the
surface of the earth.

(1) Both (A) and (B) are correct and (B) is the correct explanation of (A)

(2) Both (A) and (B) are correct but (B) is not the correct explanation of (A)
(3) (A) is correct and (B) is incorrect

(4) (A) is incorrect and (B) is correct

TfatEd Al o fau wel faehed 1 =74 Hifs |
(A) Siceifd o (TSRt B) F3fi-h smewfes T 3w §
(B) Y& iR sarergEt Sl enenfge fa & R gedt @ Ode W i wif St &
faerea
(1)  (A) 3 (B) Ei ®&l € T1 (B), (A) &t |l == &
(

(2)  (A) 3R (B) &I WEl € T (B), (A) F HEl AR el ©
(3) (A)TE € TN (B) Ted €
(4) (A) el € 941 (B) el ®

[Question ID = 111][Question Description = S13_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

22)



Which among the fo]lowing statements is correct ?

(1) Troposphere contains a layer of Ozone gas which protects us from harmful effect of
the sun rays.

In stratosphere, Meteorites burn up on entering from the space.
In Mesosphere, temperature rise very rapidly with increasing height.

T R e
= L
T ™

In Thermosphere, radio waves are reflected back.

feaddsn-mFrad € ?

(1)  sitsmoee ; 39H Sl 19 1 9 U6 St & 0 e o ot foreoll & aifvepner wema 9 a=rdt
gl

(2) THATIHUSH : STafel ¥ A i dlel ool TUe 39 U | 8T W &l 9 € |

(3) TEANUSH : 59 A H dgdl s % G araue ST diear § el § |

(4) SR AEgHYEd  fedl 9 39 U gR1 YA qUEtdd L & St €

[Question ID = 112][Question Description = S13_Social Science_Q052]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

23)
Consider the following statements about insolation and choose the correct option.
(A) Insolation is the incoming solar energy intercepted by the earth
(B) The amount and the intensity of the insolation vary during a day, in a season and in

a year

(C) The amount of insolation increases from the equator towards the poles.
Options :

(I) Only (A) and (B) are true

(2) Only (B) and (C) are true

(3) Only (A) and (C) are true

(4) Al (A), (B) and (C) are true



9 % 9 ¥ fau mu frfafaa suE o ofee a9 fagen & = Fifeu)
Tl § A 9l 98 Sl fore g T ol €, S heern! § |

(B) AU =i {1 iR werern feAt §, Fgeq # R SR aeerd el § |

(C) S =1 9 JHeA T 9§ el i i Fadt 7

faereu :

(1) e (A) a1 (B) Hel 8 |
(2) A (B) 991 (C) Tl T
(3) A (A o (C) WEl 2 |
(4)  (A), (B) T (C) W €1

[Question ID = 113][Question Description = S13_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

" Which means of transport of India has the largest network in Asia ?

(I) Roadways

(2) Railways
(3) Waterways
(4) Pipelines

TR H 9RA % FoRY ARG % WIEE w1 9ay 9 oA 8 2

(1) HeFAF
(2) XEHw
(3) el
(4) I

[Question ID = 114][Question Description = S13_Social Science_Q054]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



) Choose the correct option for the given statement.

Human being are a special resource because of
(A) Skills

(B) Knowledge

(C) Technology

(D) Personality

Options :

(1) Only (A) and (B)

(2) Only (B) and (C)
(3) Only (D)

(4)  Only (C)

fou u woF & fou 9t fasey =1 997 Fifeu .

A Tk (9 §9re fom| e 2 7
(A) PR
(B) @M
(C) Ui
(D) =AferIca
fereney -
(1) Fad (A) 991 (B)
(2) aEd (B) 991 (C)
(3) e (D)
(4) e ()
[Question ID = 115][Question Description = S13_Social Science_Q055]

1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
26)
Consider the following statements.
(A) Metallic mineral mainly found in sedimentary rocks.
(B) Mineral fuels such as coal and petroleum are also found in the sedimentary strata.
Choose the correct option.
(1) Both (A) and (B) are true but (B) is the correct explanation of (A)
(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3)  (A)is true but (B) is false
(4) (A) is false but (B) is true



e ol W o= sifs -

(A) ®ifcas TS &r: SFEHe 9 998 § 91 S 3 |

(B) Wil e S e iR Y2iferay oft stardret w ¥ U S
wal fasrey 1 999 Hifau)

(1)  (A) @1 (B) ]I Wel € a1 (B) Wal s8Rl & (A) Hi |

(2) (A)an (B) 3 wEl €, for (B) wel == 781 € (A) #

(3) (A) W@ &, freg (B) TTerd 1

(4) (A) T B, T (B) WE B

[Question ID = 116][Question Description = S13_Social Science_Q056]
1. 1 [Option ID = 461]

2. 2 [Option ID = 462]

3. 3 [Option ID = 463]

4. 4 [Option ID = 464]

27)

What do we call the rows of trees are planted to check the wind movement to protect the
soil from erosion ?

(1) Intercropping

(2) Shelter belts

(3) Contour planting
(4) Strip plantation

el shl 3 AR okl &1 el Sl @, Sl Jal i T9Ed § o=M =g 91y i Tfd sl Uehd o ford emms
S E 2

(1) sidu w&H
(2) onEE

(3) HHRE AT
(4) TEIRR T

[Question ID = 117][Question Description = S13_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
28)
Values, beliefs, ideas and characteristics passed from one generation to the next is called :
(1) Customs
(2) Ethnicity
(3) Culture
(4) Assimilation



T id § gud W # exiaf ge, favardi, faewi 3 aamn @1 wed ¥
(1) Fam/Efs
(2) eI
(3) wEHfd
(4) SATHHRHI
[Question ID = 118][Question Description = S13_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]

3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

e Identify a behaviour/situation which reflects Prejudice’.

(A) Giving preferential treatment to English speaking people

(B) Making friends with people of one’s own caste and religion only
(C) Separate queues for females and males

(D) Paying homage to places of one’s own religion

Choose the correct option :

(1) (A) and (D)

) (A) and (B)
(3) (C) and (D)
(4) (B) and (C)

34 raer/fefa 1 gt < qatre’ 8 wfafEfaa wwd §
(A) SIS e aTal %l SFaeR § wefHeRd & |

(B) AW 3194 HH § SIfd & AN I 9 S

(C) wfeensii ua gyl & fAw stem dfe=i 8|

(D) a9 HH o Yo T4l 1 THE HEAT
Hﬁ'ﬁﬂﬁqﬁﬂﬁ'@:

(1) (A)H"'"(D)

(2) (A)T
(3) (©@:n (D)
4) (B) (O

[Question ID = 119][Question Description = S13_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30)



Consider the following statements :
(A) Costa Rica is considered to be one of the healthiest countries in Central America.

(B) Instead of spending money on Army, Costa Rican Government decided to spend on
safe drinking water, sanitation and nutrition.

Choose the correct option

(1) Both (A) and (B) are true and (B) is the correct explanation of (A)

(2) Both (A) and (B) are true but (B) is not the correct explanation of (A)
(3) (A) is true, but (B) is false

(4) (A) is false, but (B) is true
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1[Q1L1<[egtitgn |I|; =417 3;)][Question Description = $13_Social Science_Q060]

2. 2 [Option ID = 478]

3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

3 Which of the following statements is true about democratic government ?

(1) Government has the power to make decisions but not to enforce its decision

(2)  Without laws the government’s power to make decisions is not of much use
(3) In representative democracy people do participate directly
(4) In a democratic government few adults are allowed to vote

Tk JSII5F TR & fou fe § 4 S e 98t &2

(1) TN % U FHEF S I dehd ol el &, T ] i i T |

(2) A o R @ ol o i wifed @ e a1l el S E
(3) fafafy dieds | & goet 59 8 9 o €

(4) YIRITF OCRR H S TR H G2 S H1 AT G £ |
1[Q:J«E=;titgn I||; =418 f]1][Question Description = $13_Social Science_Q061]
2. 2 [Option ID = 482]

3. 3 [Option ID = 483]
4. 4 [Option ID = 484]



32 : ; ; ;
" Most of the working women in India are engaged in

(1)  Agricultural work
(2) Medical profession
(3) Teaching work

(4) Private companies
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[Question ID = 122][Question Description = S13_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33 . : ; 5 2
) Which of the following is/are true in reference to minimum wages ?

(A) Minimum wages are not meant to protect workers.
(B) A worker has to be paid less than the minimum wages by the employer.
(C) Itis legal to deny workers the wages as fixed by the government.

Options :

(1) (A)and (B)
2 (B)and (©)
(3) Only (A)
(4)  Only (C)
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[Question ID = 123][Question Description = S13_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



34)

It is the decision of the that creates a democratic government and decides
about its functioning,.

(1) elected government

(2) people of India

(3) members of Rajya Sabha

(4) ~members of Lok Sabha
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[Question ID = 124][Question Description = S13_Social Science_Q064]
1. 1 [Option ID = 493]

2. 2 [Option ID = 494]

3. 3 [Option ID = 495]

4. 4 [Option ID = 496]

35)

The women as cempared to men labor both inside the home and outside. This condition
is referred to as

(1) Double burden
(2) Over burden
(3) Double duty
(4) Over time
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[Question ID = 125][Question Description = S13_Social Science_Q065]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]



36)

The Preamble of the Constitution of India does not refer to justice.
(1) Social

(2) Economic

(3) Legal

(4) Political
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[Question ID = 126][Question Description = S13_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)

If Rishad from Parsi community opened an Educational institution based on the teaching
of his faith, Which of the following constitutional provisions enabled him to do so ?

(1) Right of freedom of religion

(2) Right to equality
(3) Right to cultural development and education
(4) Right to freedom

ST Ut e | g STt stmeen & e 3 ST W e Sk deH e g1 frefatad
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[Question ID = 127][Question Description = S13_Social Science_Q067]
1. 1 [Option ID = 505]

2. 2 [Option ID = 506]

3. 3 [Option ID = 507]

4. 4 [Option ID = 508]

*®) Who is the final interpreter of the Constitution of India ?

(1) Legislature
(2) Executive

(3) Judiciary
(4)

4 Parliament
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[Question ID = 128][Question Description = S13_Social Science_Q068]
1. 1 [Option ID = 509]

2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

39)
In 2005, a high level committee chaired by Justice Rajinder Sachar studied and examine
the status of the Muslim community in India
(A) Economic (B) Political
(C) Social (D) Educational

Choose the correct combinations to fill in the blank.
(1) Economic, Poelitical and Social

(2) Economic, Political and Educational

(3) Political, Educational and Social
(4)

4 Economic, Social and Educational
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ferfa =1 e oiR SitE &
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[Question ID = 129][Question Description = S13_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

*" Which real life incident established the right to livelihood as part of the Right to Life ?

(I) Once some slum-dwellers were evicted from Mumbai city
(2) Injured farmer Hakim Sheikh

(3) Discrimination faced by Omprakash because he was a Dalit
(4) The protest of Samyukt Kisan Morcha (SKM)
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[Question ID = 130][Question Description = S13_Social Science_Q070]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

41)

One can use the word CE (Common Era) in place of

(1) BCE
(2) AE
(3) AD
(4) ACE
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[Question ID = 131][Question Description = S13_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42)

The following are statements regarding interdisciplinary approach to social sciences.

(A)

(B)
(©

(D)

All themes must be discussed in an interdisciplinary manner

For an enabling curriculum, interdisciplinary thinking is required

The boundaries of disciplines need to be opened up, and a plurality of approaches
are applied to understand a given phenomenon

The discipline that make up the social sciencesi.e,, history, geography, political science
etc. have distinct methodologies.

Choose the option comprising correct statements

(1)
(2)
(3)
(4)

(A), (B) and (C)
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[Question ID = 132][Question Description = S13_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)

Story-telling method in teaching a social science subject is most useful for which level of
education ?

(1) Foundational level

(2) Preparatory level

(3) Secondary level

(4) It can be used across levels
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[Question ID = 133][Question Description = S13_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

44)



In this situation of discomfort with respect to certain terms or concepts in social science,
what is expected from a teacher ?

(1) She should not bring up such issues in the classroom

(2)  She should avoid teaching such topics

(3) She should teach with sensitivity while respecting everyone’s dignity
(4)

4 She should read out loud and go to next topic

At foam § Fo sl sieen Hohedisll & Had | rHesa ol feufd § wh e 9 0
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[Question ID = 134][Question Description = S13_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

45)

If a teacher of Andhra Pradesh is teaching a topic of equality, the socio-economic conditions
of which of the following may find a mention as a more relevant example for the
discussion ?

(1) The Chenchus

(2) The Baigas
(3) The Mishmis
(4) The Orans

S HAY-9e9 i Uk fofagem ‘gamar’ fawa =1 s ) @ § 9 Fefafas § 9 frast
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(2)
(3) fafms
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[Question ID = 135][Question Description = $13_Social Science_Q075]

1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)



While teaching a topic such as food security, which of the following may be more
appropriate in the social science class ?

A) Students need to be taught only the textbook contents on food security
B) Watching a film on Bengal famine

C) Archieved photographs of green revolution

D) Interacting with students taking mid day meal

) Only (A)
2)  Only (A), (B) and (D)
3) Only (A), (B) and (C)
4) Only (B), (C) and (D)
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[Question ID = 136][Question Description = S13_Social Science_Q076]

1. 1 [Option ID = 541]

2. 2 [Option ID = 542]

3. 3 [Option ID = 543]

4. 4 [Option ID = 544]

47)
Which of the following activities are appropriate to analyse and imagine the concept of
colonialism by the middle level students ?
(A) Watching the movie Lagaan or similar movie in any modern Indian language
(B) Deliver a lecture on the topic based on the textbook contents
(C) Role play on the life of Mahatma Gandhi in one of the movements
(

D) Dictate the details of important points on the way colonialism practised during

British India
Choose the appropriate option.
(1) (A) and (D)
(2)  (B) and (C)
(3) (A) and (C)
(4) (B) and (D)
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[Question ID = 137][Question Description = S13_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]

3. 3 [Option ID = 547]
4. 4[Option ID = 548]

48 i E s : " : :
ral activities provide oppor es fo social science students for
) Cultural activiti provide opportunities t al tudents f

(1)  Self-expression
(2) Discrimination
(3) Self-centredness
(4) Alienation

wiepfas fafafiei gefse faem & o6t @ yem wd €
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(2) YRYE % I
(3) SRR & ST
(4) SAoE
[Question ID = 138][Question Description = S13_Social Science_Q078]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]

3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49)



Which of the following should be done by a social science teacher in order to address the
diversity existed in the class and in society ?

(A) Include examples of multiple cultures in the class discussions

(B) Take up only example that are relevant to the majority

(C) Encourage students to share their personal experiences in the class
(D) Guide the students to appreciate the diversity

Choose the correct option.

(1) (A), (B) and (C)
() (A), (B) and (D)
(3) (A) ©) and (D)
(4)  (B), (C) and (D)

S e e s g/ e o e § e ey o1 gaifud +:0 % fou frefafaa
o 4 71 fepan sA7 =nfen ?
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[Question ID = 139][Question Description = S13_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)



Which of the following questions promote critical thinking skills among social science
students ?

(A) Is it correct to say women should not be in politics ? Give reasons.
(B) What are the differences between evergreen forest and deciduous forest ?

(C) What do you mean by earthquake ? Describe three waves that originate during
earthquake.

(D) What does the word ‘equality’ means in the Preamble of the Constitution ?
OpﬁcmS'

(1) Only (A)

(2) y (A) and (C)

(3) Oﬂly (A) and (D)

(4)  Only (A), (C) and (D)
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FAE 7
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[Question ID = 140][Question Description = S13_Social Science_Q080]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

51)



To create quality teachers for social science teaching in schools, which of the following

aspects pre or in-service training programmes should take care of ?

(A) Emphasis on textbooks as the only source of pedagogy

(B) Teachers should be oriented to encourage rote memorisation of the content

(€) Teachers should be exposed to different strategic planning and collection of resources

(D) Theuse of Teacher Handbooks in the different disciplines of the social sciences should
be made mandatory

Options :

(1) (A), (B) and (C) only

(2) (B) and (C) only

(3) (©) and (D) only

(4)  (A) and (B) only

Terreri § wfser formm faam & fere quramn arel e Tan & * fog fefafed dargd o
Had, vivrE swrEndl | o SAEmi 6 e W@ 9Ey ?
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B) forer I fawa o & Z9aq Fo FU I Wedifed #=1 % foru s9y@ @ =nfen

[Question ID = 141][Question Description = S13_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

52)



Read the following statements (A) and (R) and choose the appropriate option.
Statement (A) : Holistic understanding of social science at the middle stage is
possible through interdisciplinary approach
Statement (R) : Social science curriculum in India is organised mainly through

disciplinary approach
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (A)is true but (R) is false

(
(
(4) Both (A) and (R) are false

frefefad wert 1 (A) 991 (R) ufge @it w8l faspeq &1 =97 Fifay ;
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1[Q:n[e;:tci>or:| |I|; =516 :]2][Question Description = S13_Social Science_Q082]

2. 2 [Option ID = 566]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

53)

With regard to understanding social science as a discipline, consider the following statements

and choose the correct option.

I.  The disciplines in social science have distinct methodologies and hence disciplinary
boundaries should be preserved for a better understanding of the social phenomena.

II.  Social science as a discipline is interpretative in nature and hence do not lend itself
to scientific inquiry.

(1) Only I is correct

(2) Only I and II are correct
(3) Both I and II are correct
(4) Both I and II are incorrect
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[Question ID = 143][Question Description = S13_Social Science_Q083]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

" What steps could be taken if one feels that the sources might be fabricated ?

(A) Imagine about mental health of the person who documented the source
(B) Check the material from which the source is made
(C) Carroborate the source with other accepted sources

Options :

(1) Only (©)

(2) Only (A) and (B)
(3) (&), (B) and (C)
(4)  Only (B)

3 fordt =1 T @ ToR i 71 T € gehd € ol 9 el 3210 §H d1fed ?

(A) T =i 1 g T o1 39 =fe & Amfas e & 9 H a1 @ |
(B) 3% Wt ! gEAT ahife FSEs w6 S e

(C) Eid =l 3171 Wigha Sidi o 919 9 Hifeu)

fawea -

(1) =9 (C)

(2) FHE (A) 3R (B)
(3) (A), (B) 3R (O)
(4) A (B)

[Question ID = 144][Question Description = S13_Social Science_Q084]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]



4. 4 [Option ID = 576]

55)

Which of the following rubrics may be more appropriate for doing projects on the topic -
French Revolution ?

(A) Analytical Rubric

(B) Checkist

(C) Holistic Rubric
Options :

(1) Only (A)

(2)

(3) Only (C)
(4)

‘“wig & it fawg I S are ufEse & foau fefafad § 9 s-w safie stas
ERRESEIL

(A) foeeroumedes waftr

(B)  itergeh
(
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faeea .

(1) e (A)
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(3) Ee (Q)

(4) (B) ¥R (C) T

[Question ID = 145][Question Description = S13_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

56)



Which of the following questions attempt to assess factual knowledge of social science
students ?

(A) Recently Article 370 has been removed from Indian constitution. What are pros
and cons of this Act ?

(B) Describe the movement of Sun from Tropic of Capricorn to Tropic of Cancer

(C) Do you think the right to freedom of religion in India works properly ? Does it make
India a secular state ?

(D) How is earth divided into different hemisphere ?

Options :

(1) (A) (B) and (C)
(2)  (B), (© and (D)
(3) (A)and (D)

(4) (B) and (D)

et # & - e qrfsres fomm & faenfelai 3 aeamns aF % aeher &1 T3
g7
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fawea :

(1) (A), (B) #X (C)
(2) (B), (C) ¥R (D)
(3) (A) ¥R (D)
(4) (B) 3R (D)

[Question ID = 146][Question Description = S13_Social Science_Q086]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]
57)
Who first used the concept of formative evaluation in the field of educational
assessment ?
(1) Benjamin Bloom
(2) Michael Scriven
(3) Lorin W. Anderson

4) John Dewey
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[Question ID = 147][Question Description = S13_Social Science_Q087]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

*®) Match the following and choose the appropriate option.
(a) Placement evaluation (i) Learner certification
(b)  Diagnostic evaluation (ii) Mastery of subject contents
(c) Formative evaluation (iii) Assessment of entry behaviour
(d) Summative evaluation (iv) Solving learning difficulties
Options :
(1) (@)-Gv), b)), ©-G) (d)-(iii)
@) (@)-Gid), (b)-(i), ()-v), (@)-G)
(3) ()G, (b)-(iv), (©)-(i), (d)-6)
(4)  (@-Gv), (b)-Gii), (0)-), (d)-(ii)

frfafag =1 gafaa sife sk suged fasen gim .

(a) TS sweRet ()  Toremed gETOERLor

(b) iR e (i) oo w7 e

(c) Tamfome= e (iii) OV SITER HT SR

(d) TR TR (iv) SIEATH HHEATAT I A HA
fawey ;

(1) (@)-@v), (b)-(id), (©)-(), (d)-(iii)

(2)  (a)-(id), (b)-(11), (c)-(), (d)-()

(3)  (a)-(iii), (b)-(iV); ¢)~(ii), (d)-(1)

(4)  (@)-(iv), (b)-(iii), (c)~(1), (d)-(ii)

[Question ID = 148][Question Description = S13_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59)



Which of the following may be followed to develop evaluation procedures according to
the RTE Act 2009 ?

(A) Promote child’s knowledge, potentiality and talent
(B) Authentic and appropriate use of technology

(C) Make the child free of fear, trauma and anxiety

(D) Encourage the child to express her or his views freely
Opﬁons :

(1) Only (A), (B) and ()

(2) )

(3) Only

(4)

AR, TR 2000 F FTEN GAHA GFG B a0 % fou fefatea § 4 fege
SFHTY AT =My ?

(A) o= o I, &1 S AT ol =Td T

(B) WrENfiTen! =Rl WTHITUER UE 399 ITAA

(Q) ™, e ud o1 § o= =l go T

(D) o= =l 39 =R a9 =49 %3 & fau geafed e

[Question ID = 149][Question Description = S13_Social Science_Q089]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



60)

(i)  Which state rank first in the production of spices in India ?
(ii) What are the geographical conditions favourable for production of spices ?
(A) Classify, contrast and compare

(B) Evaluate and analyze information and its sources

(C) Extrapolate, predjél: events and it's effects

(D) Reason and assess cause and effect

Options :

(1) (A)only

(2) (B) and (C) only

(3) (A), (B) and (C) only

(4) (A) and (D) only

foefertad e @ i 9 aAferm ufawe giafafad 8 © €2

(i) oA H HEE 6 IS H -9 T YUH TH W E?

(i) T % IHEH & T HA-H Jriiferss uRftefmEr sewd # 2
(A) =fid ISy, ferowan eiisd iR ger ifsy

(B) SIFERRI 37 9% Tl 1 gedidA Ud faver wifsg

(C) dfeddym ifsy, se1eill Ud 37 Y&l 1 gaigam amsd

(D) =T €ifSTe, i RO Ud YWTE 1 AR HHfeT

(1)
(2) %ad (B) AR (O)
(3) wRad (A), (B) A (C)
(4) e (A) R (D)
[Question ID = 150][Question Description = S13_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]

3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- ENG_Q91-99_L1_P2_CTET

1)

Which of the following learning outcomes is mainly reflected in the questions :



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man followed him quickly and said, “My umbrella”.

“Oh; is it?” said Soapy, “Why don’t you call a cop ?
I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

“I...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. Ifound it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

“We have orders to let them shout

“them” in the above sentence stands for

(1) drunkards

(2) angry citizens

(3) college students

(4) dancing people
[Question ID = 151][Question Description = S13_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]

3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

2)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man followed him quickly and said, “My umbrella”.
“Oh; is it?” said Soapy, “Why don’t you call a cop ?

I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

“I...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. Ifound it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

The umbrella man was very polite. Inspite of the fact Soapy had simply walked away with
his umbrella because :

(I) he had not purchased it.

(2) did not much like the umbrella.
(3) he wanted to replace it anyway.
(4

[Question ID = 152][Question Description = S13_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

he had borrowed it from a restaurant owner.

3)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man followed him quickly and said, “My umbrella”.
“Oh; is it?” said Soapy, “Why don’t you call a cop ?

I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

“I...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. Ifound it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

Which of the following statements is not correct ?

Soapy insisted on the umbrella man to call a cop because he was arrested.
(1) eager to get

(2

(3) desirous of getting
(4)

[Question ID = 153][Question Description = S13_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

reluctant to get

longed to get

4)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man follow ed him quickly and said, “My umbrella”.
“Oh; is it?” said Soapy, “Why don’t you call a cop ?

I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

“1...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. I found it this morning in a restaurant.”

rrs

“It's mine!” cried Soapy, with anger in his voice.
The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

After reading the passage we can infer that Soapy was a person.
(1) poetic
(2) timid

(3) homeless
(4) nature loving

[Question ID = 154][Question Description = S13_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]

5)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man follow ed him quickly and said, “My umbrella”.
“Oh; is it?” said Soapy, “Why don’t you call a cop ?

I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

£

“1...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. I found it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.
The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

Island is a piece of land which is

(1) surrounded by water from all sides.

(2) surrounded by water from three sides only.
(3) submerged in water.

(4) inhabitable for humans.

[Question ID = 155][Question Description = S13_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Seapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man followed him quickly and said, “My umbrella”.

“Oh; is it?” said Soapy, “Why don’t you call a cop ?
I took it. “Why don’t you call a cop ? There's one standing at the corner”,

“1...” said the umbrella man. “... that is ... you know how these things happen ; if that’s your
umbrella. I'm very sorry. I found it this morning in a restaurant.”

“It’s mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

After taking away the umbrella, Soapy walked slowly because he
(1) didn’t want to draw attention towards himself.

(2) had hurt his leg and couldn’t walk properly.

(3) was afraid of the policeman standing near the door.

(4) he wanted the umbrella man to catch him.

[Question ID = 156][Question Description = S13_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man followed him quickly and said, “My umbrella”.

“Oh; is it?” said Soapy, “Why don’t you call a cop ?
I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

“I...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. Ifound it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

Read the following sentences.
(A) The umbrella man was purchasing groceries from the shop.
(B) It was a cold, windy day.
(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A)is true and (B) is false.
(4) (A)is false and (B) is true.
[Question ID = 157][Question Description = S13_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]

3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

8)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Soapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrella and walked away slowly. The man follow ed him quickly and said, “My umbrella”.
“Oh; is it?” said Soapy, “Why don’t you call a cop ?

I took it. “Why don’t you call a cop ? There’s one standing at the corner”.

£

“1...” said the umbrella man. “... that is ... you know how these things happen ; if that's your
umbrella. I'm very sorry. Ifound it this morning in a restaurant.”

“It's mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

i

cried Soapy, with anger in his voice”. Here ‘anger’ is used as a/an :
(1) adverb
(2) adjective
(

)
)

2

noun

oy

verb

(

[Question ID = 158][Question Description = S13_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the following passage and answer the question that follows :

Soapy began to shout as if he had too much to drink. His voice was as loud as he could
make it. He danced. He cried out.

And the cop turned his back to Seapy, and said to the man standing near him, “It's one of
those college boys. He won't hurt anything. We have orders to let them shout”. Soapy was quiet
as no cop was going to touch him? He began to think of the Island as if it were as far away as a
star. He pulled his thin coat around him. The wind was very cold. Then he saw a man in a shop
buying a newspaper. The man’s umbrella stood beside the door. Soapy stepped inside the shop,
took the umbrellaand walked away slowly. The man followed him quickly and said, “My umbrella”.

“Oh; is it?” said Soapy, “Why don’t you call a cop ?
I took it. “Why don’t you call a cop ? There's one standing at the corner”,

“1...” said the umbrella man. “... that is ... you know how these things happen ; if that’s your
umbrella. I'm very sorry. I found it this morning in a restaurant.”

“It’s mine!” cried Soapy, with anger in his voice.

The umbrella man hurried away. Soapy talked to himself about cops. Because he wished to
be arrested, they seemed to believe that he was like a king who could do no wrong.

At last, Soapy came to one of the quiet streets on the side of the city. He was going home,
although home was only a seat in a park.

In the sentence “ ..... you know how these things happen”.
“how these things happen, is used as a/an :

(1) mnoun clause

(2) adverb clause

(3) adjective clause

(4) coordinate clause

[Question ID = 159][Question Description = S13_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Topic:- ENG_Q100-105_L1_P2_CTET



" Read the following poem and answer the question that follow :
I have a little shadow that goes in and out with me,
And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

The poem show the of the little boy.
(1) bravery
(2) simplicity
(3) achievements
)

(4) inadequacies

[Question ID = 160][Question Description = S13_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2 Read the following poem and answer the question that follow :

I have a little shadow that goes in and out with me,

And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

Which of the following statements about the poet and his shadow is not true ?
(1) It runs along with the poet.
(2) Itresembles the poet.
(3) It goes in and out just like him.
)

(4) It grows at the same pace as the poet.

[Question ID = 161][Question Description = S13_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]



? Read the following poem and answer the question that follow :

I have a little shadow that goes in and out with me,

And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

The poet says that his shadow is a coward because it :
(1) stays close to the boy

(2

(3
(4

jumps into the bed

) s very lazy

) shoots like an India-rubber ball

[Question ID = 162][Question Description = S13_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]

2. 2 [Option ID = 646]

3. 3 [Option ID = 647]

4. 4 [Option ID = 648]



4} Read the following poem and answer the question that follow :

I have a little shadow that goes in and out with me,

And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

The poem is an example of a :

(1) ballad

(2) fable

(3) lyrical poetry
)

(4) parable

[Question ID = 163][Question Description = S13_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]



) Read the following poem and answer the question that follow :

I have a little shadow that goes in and out with me,

And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

The entire poem is an example of which figure of speech or poetic device ?
(1) metaphor

(2

(3
(4

personification

) anaphora

) alliteration

[Question ID = 164][Question Description = S13_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]

2. 2 [Option ID = 654]

3. 3 [Option ID = 655]

4. 4 [Option ID = 656]



® Read the following poem and answer the question that follow :

I have a little shadow that goes in and out with me,

And what can be the use of him is more than I can see.
He is very very like me from the heels up to the head;
And I see him jump before me, when [ jump into my bed.

The funniest things about him is the way he likes to grow
Not at all like proper children, which is always very slow;
For he sometimes shoots up taller like an India-rubber ball;
And he sometimes get so little that there’s none of him at all.

He hasn’t a notion of how children ought to play,

And can only make a fool of me in every sort of way.

He stays so close behind me, he is a coward you can see;

I'd think shame to stick to nursie as that shadow sticks to me.

The rhyme scheme of the poem is :

(1) abab
(2) aabb
(3) abca
(4) abchb

[Question ID = 165][Question Description = S13_English Content/Pedagogy_Q105]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

Topic:- ENG_Q106-120_L1_P2_CTET

1)

If the learners have less exposure to the target language, teaching of grammar should
be:

(1) deductive

(2) teacher-centered

(3) use of labels to encourage memorization
(4) interactive and learner-centered

[Question ID = 361][Question Description = S13_English Content/Pedagogy_Q106]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

2 Group of words categorized on the basis of sounds is called

(1) phonetic grouping

(2) lexical grouping

(3) grammatical grouping
(4) semantic grouping



[Question ID = 362][Question Description = S13_English Content/Pedagogy_Q107]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4[Option ID = 1448]

) Which of the following is least important in enhancing the learners’ speaking skills ?

(I) asking them to read aloud
(2) asking close-ended questions
(3) allowing them to express their feelings
(4) encouraging them to participate in different speaking activities.
[Question ID = 363][Question Description = S13_English Content/Pedagogy_Q108]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]
4)
Which statement is NOT true ?
(1) Reading generally refers to decoding the text.

(2) While reading, the reader actively constructs meaning,
(3) A good writer should know his audience well.
(4) To be able to read and write well in a language, one must have a substantial amount

of vocabulary.

[Question ID = 364][Question Description = S13_English Content/Pedagogy_Q109]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

> Which activity may NOT help much in using language in real-life situations ?

(1) copying from the blackboard
(2) reading authentic material
(3) listening to news
(4) writing reflective journal
[Question ID = 365][Question Description = S13_English Content/Pedagogy_Q110]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]
6)
How canan enthusiastic teacher help the learners to develop language skills in a traditional
classroom 7
(1) Dby following a predetermined syllabus.
(2) by using prescribed textbook.
(3) by giving additional information through self-prepared material.
(4)

4) by giving them weekly tests.

[Question ID = 366][Question Description = S13_English Content/Pedagogy_Q111]
1. 1 [Option ID = 1461]



2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]
7)
Writing is a thinking process of considerable complexity. However, to be a good writer
DOES NOT require to :
(1) spend considerable time to plan
(2) think of the audience for their product
(3) revisit the writing and, if required, rewrite and finalize the draft
(4) ignore the process and focus on the product

[Question ID = 367][Question Description = S13_English Content/Pedagogy_Q112]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]

8 . :
) Which statement is not true ?

(1) Listening, speaking, reading and writing are language skills.

(2)  Written language can be different from the language of speech.

(3) Writing is for pleasure and hence, not reader directed.

(4) Speaking may not be planned, but writing needs to be planned meticulously.

[Question ID = 368][Question Description = S13_English Content/Pedagogy_Q113]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]
9)
Which of the given task a teacher should avoid while preparing a lesson plan to teach
writing skills to class VIII students ?
(1) Write an e-mail requesting information about hotel accommodations.
(2)
(3) Prepare texts and slides for a class presentation.
(4)

4

Write notes during a lecture and summarize them.

Giving a task to learners that focusses on leamjng the forms and rules of language.

[Question ID = 369][Question Description = S13_English Content/Pedagogy_Q114]
1. 1 [Option ID = 1473]

2. 2 [Option ID = 1474]

3. 3 [Option ID = 1475]

4. 4 [Option ID = 1476]

10)

A Japanese studentin the seminar could fluently speak English, French, Hindiand Japanese.
She is probably a

(I) language learner
(2) monolingual

(3) multilingual

(4) bilingual

[Question ID = 370][Question Description = S13_English Content/Pedagogy_Q115]
1. 1 [Option ID = 1477]



2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

11)

Language teaching at school must necessarily go beyond textbooks. In light of the
statement, which resources/activities would you suggest to middle school learners to
enrich their language learning ?

(1)
2

(2)
(3)
(4)

reading authentic literature

reading prescribed books

using bilingual dictionary

solving worksheets prepared by the teacher

[Question ID = 371][Question Description = S13_English Content/Pedagogy_Q116]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

12)

is a speech disorder that affects the flow of the speech by repeating the same

word again and again.

(1)
2)
3)

(
(
(4)

Stuttering
Mispronunciation
Aphasia
Dysphasia

[Question ID = 372][Question Description = S13_English Content/Pedagogy_Q117]
1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

13)

Which strategy cannot be used to train students for good speech ?

(1)
2)
3)

)

(
(
(4

Demonstrating correct pronunciation.
Practising the correct position of the tongue and lips.
Practising eye movement to follow words.

Providing an opportunity to learners to speak for a minute to enable you to diagnose
the error.

[Question ID = 373][Question Description = S13_English Content/Pedagogy_Q118]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4[Option ID = 1492]

14)

Receptive language skills are :

(1) being able to self-correct while using language.

(
(
(

2
)
4

) using grammatical structures accurately.
) writing in range of styles.
) listening and reading for information.

[Question ID = 374][Question Description = S13_English Content/Pedagogy_Q119]



1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

™) The purpose of remedial teaching is to :

(1) introduce grammar to the existing items.

(2) test the knowledge of the students.

(3) teach the language items not properly learnt again to the learners.
(4) teach language items to the learners.

[Question ID = 375][Question Description = S13_English Content/Pedagogy_Q120]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

Topic:- HIN_Q121-128_L2_P2_CTET

1)

few wu ey W saFYdes ufew dUn g T Uy o fow wew sugea fawew w1 waEd
THITSTT |

sufeardt fesmrrl g gfe w9 fom gewt § @ |t o o ergeem, st
TUIERT AR ST T 1 GAEfod Fd 8 1 3 et H1 fol o 3 9 9% 9 o § fe
3 9oft AR ST B T, Y iR TR 1 81 9N FAg9 T @ ¢ | 349 fasl i Fasmen °
o §U o1 oA ol A1 AR-aR 36T 31 9T T il =R Tal o gl ar Tl WIS FA ol R0 E |
g YeuH e ¥, fafre # ol srera wifea ot | 5w vl & ol o o T ai st
T, UG SR e % enfen wrise 1 udis € 13 o storversn ofR oy § W § 9w v
Bl &iR et % ufd 79 21RrE 2R ST w1 st & | 39 fosi & WaeER Y 999 Y ges
G R i e | S B o G A S0 ) e T e e e | 0 e s e 1> L | M= | B A
g wifysafa =1 Aifas X enfem 5=

T Y R el o SeeiE g ©
(1) et STHUT JeuiT

(2) e T qeviHl

(3) fo= yaei

(4) el geyEl

[Question ID = 301][Question Description = S13_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2)



fau wu TNy W camude ufeu qUr U T Uy & o wew sugea fawew @ wem
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
GUIER] SR ST FHET A 1 GAHS Fd 1 3 |t |1 el R S 9 98 Wi o @ fR
3 Tft FHERR 319 B 1, B9 277 SARRR F1 81 9N ey W@ ¢ | 39 fes of Fameerl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, TFHid 3T W& & SieH |HSTE o1 Ueis ¢ | 3 fas serversn o sy § W § 9% 7
Bl &7R et % gfd oo eTmre ofR ST ot saardt 8 1 9 fesil & WraeRR Y 999 e e
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

‘Reft AR T 2 T, T S SAHR H W AR FgE WEed § 1 dfe 9 eafamra 7 -
(1) |eft Feasprl & faai & wora 21

(2) =\ FweERl A fHe-Sert s s

(3) Tl el o Fas H SR e 9iEw SR TR

(4) T FHARRN 7 FAEH W I & TG a9E T

[Question ID = 302][Question Description = S13_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)



feu wu TNy @ camuds ufew dUr U T uye & o wew suge fawew = wee
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 Tft FHERR 319 B 1, B9 277 SARRR F1 81 9N ey W@ ¢ | 39 fes of Fameerl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Bl &7R et % gfd oo eTmre ofR ST ot saardt 8 1 9 fesil & WraeRR Y 999 e e
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

et % 1 3iR Tand forg a1 el €2
(1) Wepfd = fq TgHera

(2) Te=eRml w1 qRETER s

(3) TRH 3R Ay

(4) YRl & yid g«

[Question ID = 303][Question Description = S13_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4[Option ID = 1212]

4)



feu wu TNy @ camuds ufew dUr U T uye & o wew suge fawew = wee
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 wuff AR 319 & 1, B9 271 SARRR 1 81 a1 e W @i © | 59 fes ofie Femerrl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Bl &7R et % gfd oo eTmre ofR ST ot saardt 8 1 9 fesil & WraeRR Y 999 e e
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

‘5 ol @ TR Fd g T TR A W iR e A s 21 iR v © -
(1) &9 9= S Fl 3591 T o 2

(2) WERfa o ufa TR HEHH T )

(3) T H fordt TR 1 STEiSAE WIE T S |

(4) B9R BT H Grfeshdl 1 e 9T9d 2 |

[Question ID = 304][Question Description = S13_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5)



feu wu TNy @ camuds ufew dUr U T uye & o wew suge fawew = wee
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 Tft FHERR 319 B 1, B9 277 SARRR F1 81 9N ey W@ ¢ | 39 fes of Fameerl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Bl &7R et % gfd oo eTmre ofR ST ot saardt 8 1 9 fesil & WraeRR Y 999 e e
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

weurt % o fasarl & form wra = guia €2
(1) &= =

(2) TemeR o wfd 99 =1

(3) 1 HHM HI ATTH

(4) wAIfd 9T i 3= I

[Question ID = 305][Question Description = S13_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

6)



feu wu TNy @ camuds ufew dUr U T uye & o wew suge fawew = wee
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 Tft FHERR 319 B 1, B9 277 SARRR F1 81 9N ey W@ ¢ | 39 fes of Fameerl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Bl ofw el & ufa eron TR ofR STReT st saedt € 1 5 fosl | Waerr S O9d o ges
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

ey w1 A4 § -

1) o ufa He

2)  SAEHHHI

3) 39 Yfd e e
(4) AT TOE TH FHET

(
(
(

[Question ID = 306][Question Description = S13_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4[Option ID = 1224]

7)

few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 wuff AR 319 & 1, B9 271 SARRR 1 81 a1 e W @i © | 59 fes ofie Femerrl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Gl &fR el % gfd o9 e1mre ofR ST ot et § | 59 fosl & graerR Y 999 Y e
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

39 YEUHl < folt fors wIsg <1 AT TE 31 © 2
(1) faema

(2) Hes

(3) fafore
(4) e




[Question ID = 307][Question Description = S13_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4[Option ID = 1228]

8)

feu wu TNy @ camuds ufew dUr U T uye & o wew suge fawew = wee
THiTeT |

stfeardt fesmprl g 9o = fom geet § @ |l ©f fom e sigem, st
LT SR AT FHET A 1 GAHS Fd 1 3 |t |1 el S 9 98 Wi o @ fR
3 Tft FHERR 319 B 1, B9 277 SARRR F1 81 9N ey W@ ¢ | 39 fes of Fameerl § g
o BT A1 T i A1 IR-9IR 34T %1 U T bl =T el a¥q 8 IR 41 ISl A ohl I & |
T weH wes ¥, fafvre & sl sreom wifea oft 1 g9 weel & sl O oem O oin Tamel #
T, Ui 3T W& & SfeH |HsE o1 Ueis ¢ | 3 fae serversn o ey § W E 9% 7
Bl ofw el & ufa eron TR ofR STReT st saedt € 1 5 fosl | Waerr S O9d o ges
S T B S § | et SR S 1 W e & e difedi s e o ded g g, wre @ dan
& s =1 Hifes o7 enfen z==n1

‘=t o1 gurelt ¥ -
(1) wfsF

2) I

(3) w9E

(4) T

[Question ID = 308][Question Description = S13_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4[Option ID = 1232]

Topic:- HIN_Q129-135_L2_P2_CTET

1)



few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
THiTeT |

HIZT % TG M A1 ot qia S U gard WOl g9 on H W7 enyfte s o 3t
7z ufem gar <9 8 %0 7 gd 71 enyfie Susl 3 vl sem § wet # e ae € F9 S
21, Afer =el oft -9 gt 9 o Tk oelt off 5= gen €, fget urH sgdl @1 vitder g
T 1T F T ot e v T, W S e uet ¥ et R wshns asg of wedl §
w1l forp et €1 s Wit =61 =it % 39 Tuer | ¥% 7 5 A =fee R AR fver Y
BTeld Sedt 81 TS 8 | 98 Ush TeATS © o 79 Hyhi o U9 Rl Td S0 ot 8 difeal = ¥
ST AT | T2 off U weE © TR SR =S o6t e = foee 56 €, wifee figt & sl oI
gt § o 7 =il & wiAd a9t oft @ agd s A | w0 wad wa o wa B e e gen,
B2 1A 0 A B e s e e =710 | B e e B 4 e e e T o e s L e R e S C oA e
Y 9gd TR a9 U9 @ fwa w@n e

gl @ o+t =fisii &t ial | sfuss 9fs =1 79 g =72

(1) THEN Se—SiTe STHHT 6 STers § |

(2) @HEER H qEfHag Mgl F & e |

(3) THE! o G STEH 9 & &d € |

(4) gt 92w = oft =S o wed €
[Quc[estion ID = 309]][Question Description = S13_Hindi Content/Pedagogy_Q129]
2. 2 [Option ID = 1234]

3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

2)



few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
THiTeT |

HIZT % TG M A1 ot qia S U gard WOl g9 on H W7 enyfte s o 3t
7z ufem gar <9 8 %0 7 gd 71 enyfie Susl 3 vl sem § wet # e ae € F9 S
21, Afer =el oft -9 gt 9 o Tk oelt off 5= gen €, fget urH sgdl @1 vitder g
T 1T F T ot e v T, W S e uet ¥ et R wshns asg of wedl §
w1l forp et €1 s Wit =61 =it % 39 Tuer | ¥% 7 5 A =fee R AR fver Y
BTeld Sedt 81 TS 8 | 98 Ush TeATS © o 79 Hyhi o U9 Rl Td S0 ot 8 difeal = ¥
ST AT | T2 off U weE © TR SR =S o6t e = foee 56 €, wifee figt & sl oI
gt § o 7 =il & wiAd a9t oft @ agd s A | w0 wad wa o wa B e e gen,
B2 1A 0 A B e s e e =710 | B e e B 4 e e e T o e s L e R e S C oA e
Y 9gd TR a9 U9 @ fwa w@n e

wied Siteq H gt | s fo =ie o yeed et st 2
(1) fast & fom =
(2) gt & faam
(3) THgl & s
(4) HZh SR THA
[Question ID = 310][Question Description = S13_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]

3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

3)



few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
THiTeT |

HIET % aXal it At i gl # U gEd wWuw e 3w 4 w1 enyfae sum o et
7% A TUN S0 H 9 TE g2 1 SR Suski A vl e § WEl Bl SE 9 @ 559 B
&, wife 7T ot Fu-8-0 ot § o geskt et off s gen €, Foger ar Sgdi S witeer 2
T HE % e i R Y- e, | S fowrE ved €1 6l i wsierss aeqy ot wed |
1! faek ot § 1 IR 9@t 1 =i % 39 TEed 9§ 98 7 A4 o =fen fF g e
TTEd TR B T ¥ | T8 U 9= § TF o FeR U9 i W= 9w i 7 difedr wm g
STOATAT =TT | I2 off Uk = © T SR <isl ol whiad e forat sre €, oo gt o el o
gl & 991 718 =isi @i g o of € 9gd SUel 981 | 86 Tes 99 | el @ R o g, 3w
o AR T i o gga s 0t 1 s g it e ot 79 w0 sl Hasen A e
Y g e & 9 UH o fwa wn g

Trefafad § 9 F9-1 F97 T8 &2

(1) sy smH § ot o2t =t Afem &9 7@ g8 € |
(2) gt % et Fee Tl § € fewE ved 7

(3) Fuwrl w1 feufa agd o=t @1 7

(4) TR Sw H S | = =Sl s o el T2 o

[Question ID = 311][Question Description = S13_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

4)



few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
THiTeT |

HIET % aXal it At i gl # U gEd wWuw e 3w 4 w1 enyfae sum o et
7% A TUN S0 H 9 TE g2 1 SR Suski A vl e § WEl Bl SE 9 @ 559 B
&, wife 7T ot Fu-8-0 ot § o geskt et off s gen €, Foger ar Sgdi S witeer 2
T HE % e i R Y- e, | S fowrE ved €1 6l i wsierss aeqy ot wed |
1! faek ot § 1 IR 9@t 1 =i % 39 TEed 9§ 98 7 A4 o =fen fF g e
TTEd TR B T ¥ | T8 U 9= § TF o FeR U9 i W= 9w i 7 difedr wm g
STOATAT =TT | I2 off Uk = © T SR <isl ol whiad e forat sre €, oo gt o el o
gl & 991 718 =isi @i g o of € 9gd SUel 981 | 86 Tes 99 | el @ R o g, 3w
o AR T i o gga s 0t 1 s g it e ot 79 w0 sl Hasen A e
Y g e & 9 UH o fwa wn g

yredl SiteA 1 g 9§ o =Sl o1 e b T ?
(1) =0YfFe STHN F J=ed o |

(2) Tt & o+ =Sl & wEm @ %

(3) FHHEHR W&l @i R A= TR e |

(4) g § ot =Sl =6t orE | FE e 9

[Question ID = 312][Question Description = S13_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

3)



few T ey Wt sagded ufew qen U T Uy & fou wew sugea faeew & weEd
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[Question ID = 313][Question Description = S13_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]
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[Question ID = 314][Question Description = S13_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]
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STOATAT =TT | I2 off Uk = © T SR <isl ol whiad e forat sre €, oo gt o el o
gl & 991 718 =isi @i g o of € 9gd SUel 981 | 86 Tes 99 | el @ R o g, 3w
o AR T i o gga s 0t 1 s g it e ot 79 w0 sl Hasen A e
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[Question ID = 315][Question Description = S13_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]
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[Question ID = 316][Question Description = S13_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4[Option ID = 1264]
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[Question ID = 317][Question Description = S13_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]
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[Question ID = 318][Question Description = S13_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]
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1[Q1ljc[e;tit9n |I|; =13; 17 39]][Question Description = S13_Hindi Content/Pedagogy_Q139]
2. 2 [Option ID = 1274]

3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]
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[Question ID = 320][Question Description = S13_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]
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[Question ID = 321][Question Description = S13_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]
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[Question ID = 322][Question Description = S13_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]
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[Question ID = 323][Question Description = S13_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]
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1[Q:J<[ecs)tit?n |Ig =132§;1]][Question Description = $13_Hindi Content/Pedagogy_Q144]
2. 2 [Option ID = 1294]

3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]
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[Question ID = 325][Question Description = S13_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]

3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]
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[Question ID = 326][Question Description = S13_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

12)



AeTten shen foreror & fore o= § AR 3 sheaAmeierdn &1 GYeE gisdt 81 98 99
Terenfef=if =6t smn =1 Geeiier 9 e o g U M, Hae, werl onfe fae % fau wedr
%, el & it arfares e & 7 wfeq gu | srenfyem a3 g g 1 faerfaa = = g
@7

(1) HEHR
(2) T
(3) =f=eR
(4) eI

[Question ID = 327][Question Description = S13_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]
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[Question ID = 328][Question Description = S13_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4[Option ID = 1312]
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[Question ID = 329][Question Description = S13_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 1313]

2. 2 [Option ID = 1314]

3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

" o s o
(1) Tl o gl W e &9 9 =9 <
(2) TrEEi & Al 9 R e
(3) RO ST WEE S WIY-HY Y
(4) SRR UG H&A s H TRl e

[Question ID = 330][Question Description = S13_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 1317]



2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]






